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Solve each problem.

1) 53,751 + 5,046 =

53,751 58,751 58,791 58,797

+5,000 +40 +6

2) 50,140 + 19,563 =

50,140 60,140 69,140 69,640 69,700 69,703

+10,000 +9,000 +500 +60 +3

3) 38,058 + 31,342 =

38,058 68,058 69,058 69,358 69,398 69,400

+30,000 +1,000 +300 +40 +2

4) 26,901 + 12,127 =

26,901 36,901 38,901 39,001 39,021 39,028

+10,000 +2,000 +100 +20 +7

5) 53,429 + 45,811 =

53,429 93,429 98,429 99,229 99,239 99,240

+40,000 +5,000 +800 +10 +1

6) 40,062 + 26,899 =

40,062 60,062 66,062 66,862 66,952 66,961

+20,000 +6,000 +800 +90 +9

7) 53,993 + 16,609 =

53,993 63,993 69,993 70,593 70,602

+10,000 +6,000 +600 +9

8) 45,505 + 37,001 =

45,505 75,505 82,505 82,506

+30,000 +7,000 +1

Answers

1. 58,797

2. 69,703

3. 69,400

4. 39,028

5. 99,240

6. 66,961

7. 70,602

8. 82,506
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Solve each problem.

1) 53,751 + 5,046 =

53,751

+5,000 +40 +6

2) 50,140 + 19,563 =

50,140

+10,000 +9,000 +500 +60 +3

3) 38,058 + 31,342 =

38,058

+30,000 +1,000 +300 +40 +2

4) 26,901 + 12,127 =

26,901

+10,000 +2,000 +100 +20 +7

5) 53,429 + 45,811 =

53,429

+40,000 +5,000 +800 +10 +1

6) 40,062 + 26,899 =

40,062

+20,000 +6,000 +800 +90 +9

7) 53,993 + 16,609 =

53,993

+10,000 +6,000 +600 +9

8) 45,505 + 37,001 =

45,505

+30,000 +7,000 +1

Answers

1. 58,797
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